

N₂	C1	C2	C3	C4	C5
9	0,75	$(-1)^n \frac{\pi}{6} + \pi n, n \in Z$	$\left(0; \frac{1}{\sqrt[5]{16}}\right] \cup [2; +\infty)$	$\frac{13}{6}$	$\frac{4}{9}; \sqrt{\frac{2}{3}}; \sqrt{\frac{3}{2}}; \frac{9}{4}$
10	$\frac{15}{8}$	$-\frac{\pi}{4} + 2\pi n, n \in Z$	$\left(-6\pi; -\frac{35\pi}{6}\right] \cup \left\{\frac{11\pi}{6}\right\} \cup [6; 2\pi)$	$\frac{26\sqrt{3} + 45}{36}$	0; 1
11	80	3	$(-1 + \sqrt{2}; 1) \cup (4; +\infty)$	$\frac{106\pi}{3}$	2
12	-400	1	$\left(-\frac{4}{3}; -1\right) \cup \left(\frac{1}{6}; \frac{1}{2}\right) \cup (1; 2)$	$\frac{5312\pi}{3}$	6; 8